14,000

1,069ha

H6

3,977

56.4%

H35

3,977

56.4%

7,047

/

65.4
134

/49.0




15,080

1,056ha

H6

3,041

72.0%

42 311

311

H38

3,041

72.0%

11,636

22

24

13

20

/

77
191

/40.7




B/C 545
16,621 L=1,070m
2
L=9,700m 1
L=4,200m
L=500
L= 16,736m
L= 16,736m V=829,733
V=829,733 3 16,621 31%
L= 17,566 L= 16,496
7
21
3 3
1 1
14,704 33%
49 7
1,917 14%




4,089

L=3,500m
L= 7,000m
V=143,660 3
L= 7,000

6 4,089| 33%
5

1

3,392| 38%

L=240m
V=21,300m3
L=520m
1
1

L= 6,760m

V=122,360m3
L= 6,480m
6
8
5

696

%

B/C 51




L=3,518m

L=758m
758m
5
122,400m°
L=2,760m H12 | 5694 37.9%
2,760m
5694| 37.9%

H34

610m
45
#FET 51,000m

90m

148m

0.5
#FET 71.400m

2,670m

B/C 287




10

L=9,000m
W=22.0(36.0)m

N=1 H9 | 50,000 63%
N=7
N=17
31,837| 55%
IC
477
H30 | 18,163 78%

L=4,600m

L=4,600m

Jct
JcT
950
90%( 26
10 1 )
30
477

26 5

B/C=1.3

30




